HEmzESR/ (> IA1R

ERES RO6 - 1 2 | E85E
PhR{Tith A EELT BN
BEEERFEE 673M BERFEE BEF1444E
TihmiE 165.96m (HEHEE) BEmE 64.59n
fEHER D 3LDK RS 107.65m (HREUEE)
BImsiE RNEERE 2 &2 Fs%E /B Hh 2 PR
B B HR B @#hAHX)
ERAEIK KE (NE) Tk NHTK
&  fm
E= B (kLA NrL ¥R - K
B¥ER15 Fiicd oAt
A=)\ —FXTRHES107BERN
RiBEME
JIKAENSES107EBEA
O EZFTES10EAN
ZEZRDEARS 3~54F KEHEE NG
ZERDIRR
BRI E

(58 - RERER]




MEHIE - 55l (8%)

P ihiey FEiEREEEET A
BEERE 60 % BESRE 200 %
T OftHIBR E22RXA - 55 1 ERREEEE A - ARSI EIXE -

EIEEAF JER) : 18&3.70m

BEEEH |HEETSLQOTEES CERL TS0,

[falHy N B




